

Wall Hugger[™] Line Complete line of space-saving receptacles & accessories!



Our 16 gallon Wall Hugger™ receptacle with either the Drop Shot lid or the Single Dolly fits in the same space as our 23 gallon Wall Hugger™ receptacle.





Continental[®] Wall Hugger[™] receptacles are sleek and attractive. The line includes 16 and 23 gallon versions; both protrude less than one foot from the wall! The smooth seamless design provides prolonged life and promotes easy cleaning. Wall Hugger[™] is ideal for the kitchen, bar, restroom, break room or cafeteria.



The line of Wall Hugger™ Receptacles includes a version with molded-in handles for ease of transport.



Molded-in Bag Cinch eliminates the need to tie knots in the poly liner to keep it secure around the receptacle rim!



Molded-in hand grips in the receptacle base provide a secure area to grasp when lifting and dumping.



Wall Hugger[™] receptacles are the perfect space-saving recyclers, and can be matched to any of our Wall Hugger[™] Recycle Lids. These color-coded lids make identification easier, which encourages users to sort their recyclables. Lids are designed to fit any wall hugger style receptacle. Add our new Quad-Collection Dolly and you have a complete recycling station to sort and transport recycled materials efficiently and neatly!

Wall Hugger™ Recycle Lids come with trilingual (Eng/Sp/Fr) "Recycle Material ID Labels" to make sorting easy!



The Drop Shot Lid has a $8^{1/4}$ " x $16^{3/4}$ " opening - the largest available for this style receptacle! Design offers hands-free waste disposal that automatically closes to conceal waste.



Our popular Push Door Lids are selfclosing, trapping odors and refuse inside. The large front opening encourages use.



Our powder-coated, steel Dolly with 3", non-marking, all swivel casters creates a mobile waste collection system, when added to any Wall Hugger™.



The Half Round Wall Hugger[™], with its impressive 21 gallon capacity, is ideal for today's space-efficient workplace. The rounded design fits into the tightest spaces, while remaining unobtrusive!



The Optional Mounting Bracket, 8319, securely attaches any Wall Hugger[™] Receptacle to the wall, suspending it above the floor. Elevating the receptacle allows easy cleaning of the floor under and around the receptacle.

ltem Number	ltem		Color	Pack Case	Case Weight	Case Cube
8316BE	16 gal. Wall Hugger™	0	Beige	4	22.50 lbs.	5.050
8316BK	16 gal. Wall Hzugger™		Black	4	22.50 lbs.	5.050
8316BN	16 gal. Wall Hugger™	0	Brown	4	22.50 lbs.	5.050
8316GY	16 gal. Wall Hugger™	0	Grey	4	22.50 lbs.	5.050
8322BE	23 gal. Wall Hugger™	0	Beige	4	27.10 lbs.	6.200
8322BK	23 gal. Wall Hugger™		Black	4	27.10 lbs.	6.200
8322BN	23 gal. Wall Hugger™	\circ	Brown	4	27.10 lbs.	6.200
8322GY	23 gal. Wall Hugger™	0	Grey	4	27.10 lbs.	6.200
8322-1	23 gal. Recycle Wall Hugger™	0	Blue	4	27.10 lbs.	6.200
8322-2	23 gal. Recycle Wall Hugger™	•	Green	4	27.10 lbs.	6.200
H8316BE	16 gal. Wall Hugger™ w/handles	0	Beige	4	23.20 lbs.	5.680
H8316BK	16 gal. Wall Hugger™ w/handles		Black	4	23.20 lbs.	5.680
H8316BN	16 gal. Wall Hugger™ w/handles	\circ	Brown	4	23.20 lbs.	5.680
H8316GY	16 gal. Wall Hugger™ w/handles	0	Grey	4	23.20 lbs.	5.680
H8322BE	23 gal. Wall Hugger™ w/handles	0	Beige	4	27.75 lbs.	7.150
H8322BK	23 gal. Wall Hugger™ w/handles		Black	4	27.75 lbs.	7.150
H8322BN	23 gal. Wall Hugger™ w/handles	\circ	Brown	4	27.75 lbs.	7.150
H8322GY	23 gal. Wall Hugger™ w/handles	0	Grey	4	27.75 lbs.	7.150
H8322-1	23 gal. Recycle Wall Hugger™ w/handles	•	Blue	4	27.10 lbs.	7.150
H8322-2	23 gal. Recycle Wall Hugger™ w/handles	0	Green	4	27.10 lbs.	7.150
8321BE	21 gal. Half Round Wall Hugger™	0	Beige	2	15.20 lbs.	8.780
8321GY	21 gal. Half Round Wall Hugger™	0	Grey	2	15.20 lbs.	8.780
7325BE	Drop Shot Lid	0	Beige	4	12.50 lbs.	1.600
7325BK	Drop Shot Lid		Black	4	12.50 lbs.	1.600
7325BN	Drop Shot Lid	\circ	Brown	4	12.50 lbs.	1.600
7325GY	Drop Shot Lid	0	Grey	4	12.50 lbs.	1.600
7315GN	Recycle Lid w/handles	\circ	Green	4	4.00 lbs	1.000
7315GY	Recycle Lid w/handles	\circ	Grey	4	4.00 lbs	1.000
7316BL	Recycle Lid w/holes	0	Blue	4	4.00 lbs	1.000
7316GN	Recycle Lid w/holes	0	Green	4	4.00 lbs	1.000
7316YW	Recycle Lid w/holes	0	Yellow	4	4.00 lbs	1.000
7317BL	Recycle Lid w/slot	0	Blue	4	4.00 lbs	1.000
T7318BNBE	Push Door Lid	\odot	Brown/Beige	4	24.68 lbs.	4.160
T7318GYGY	Push Door Lid	Ø	Grey/Grey	4	24.68 lbs.	4.160
8319	Mounting Bracket			4	3.64 lbs.	0.040
8320	Single Wall Hugger™ Dolly		Black	2	19.50 lbs.	1.650
8320-4	Quad-Collection Wall Hugger™ Dolly		Black	1	21.40 lbs.	3.525

